Answers-Practice Exant:

$$
\text { 1. } \quad \begin{aligned}
& \left(\begin{array}{l}
x_{1} y_{1} \\
2
\end{array}-4\right)\left(-4 x_{2} y_{2}-4\right) \\
& \\
& -4+4 \\
& -4-2 \\
& \\
& =\frac{0}{-6} \\
& \\
& =0
\end{aligned}
$$

2. 

$$
\begin{gathered}
18 x-3 y=-162 \\
-3 y=\frac{-18 x-\frac{162}{-3}}{-3} \\
y=6 x+54 \\
m=6
\end{gathered}
$$

$$
m=6 \quad b=54
$$

3. $\left.\quad \begin{array}{cc}x_{1} y_{1} \\ -5,3\end{array}\right)\binom{x_{2} y_{2}}{-2,-2}$

$$
\begin{aligned}
& m=\frac{-2-3}{-2+5} \\
& m=\frac{-5}{3}
\end{aligned}
$$


8. $\quad 32 x^{4} y^{2}-16 x^{1} y^{3}+48 x^{5} y^{3}$
$=16 x y^{2}\left(2 x^{3}-i y^{\prime}+3 x^{4} y^{\prime}\right)$
9. $\quad 4 x^{2}+5 x-6$
10. $\quad 144 x^{2}-25$

$$
\begin{aligned}
& (12 x)^{2}-(5)^{2} \\
& (12 x+5)(12 x-5)
\end{aligned}
$$

11. $\quad 4 x^{2}+5 x-6 \quad \begin{aligned} & 8 x-3=-24 \\ & 8+-3=5\end{aligned}$

$$
\begin{gathered}
4 x^{2}+8 x-3 x-6 \\
4 x(x+2)-3(x+2) \\
(4 x-3)(x+2)
\end{gathered}
$$

$4 x(x+2)-3(x+2)$

$$
(4 x-3)(x+2)
$$

12. $\quad 14 a^{2} b^{5} c^{3}-21 a b^{3} c^{2}+35 a c^{5}$

$$
7 a c^{2}\left(2 a b^{5} c-3 b^{3}+5 c^{3}\right)
$$

13. $x^{2}+4 x-45$

$$
(x+9)(x-5)
$$

14. 

$$
\begin{aligned}
& 2(2 x-3 y)(3 x-y) \\
& (4 x-6 y)(3 x-y) \\
& 12 x^{2}-4 x y-18 x y+6 y^{2} \\
& 12 x^{2}-22 x y+6 y^{2}
\end{aligned}
$$

15. 

$$
\begin{aligned}
& 3\left(x^{2}-2 x-1\right)+3\left(5 x-4-2 x^{2}\right) \\
& 3 x^{2}-6 x-3+15 x-12-6 x^{2} \\
= & -3 x^{2}+9 x-15
\end{aligned}
$$

Hliant Rogers
16. $\begin{aligned} y & =0.02 x+26 \quad y=\$ 40 \\ & =0.02(550)+26 \quad \\ & =\$ 76\end{aligned}$
17.

$$
\begin{aligned}
0.02 x+26 & =40-26 . \\
\frac{0.02 x}{0.02} & =\frac{14}{0.02} \\
x & =700
\end{aligned}
$$

18. $y=0.02 x+26$.
19. $\quad(1,6)$

$$
\begin{aligned}
& \text { 20. Slope: } 2 / 3 \quad 3 \quad \begin{array}{l}
y_{2}-y_{1} \\
\text { Point: }(-2,5)
\end{array} \\
& \binom{x_{2}, y^{2}}{x_{1}} \\
& \frac{7}{3}=\frac{y-5}{x+2} \\
& 2(x+2)=3(y-5) \\
& 2 x+4=3 y-15 \\
& 2 x-3 y+4+150=0 \\
& 2 x-3 y+19=0 \\
& \text { 21. Slope: } \begin{aligned}
\frac{1}{0} x \text { y } & x=-6 \\
\text { Point: }(-6,-7) & x+6=0
\end{aligned} \\
& (x, y) \\
& \binom{x_{1} y_{1}}{-\lambda_{1}-1}\binom{x_{2} y_{2}}{6 . k} .
\end{aligned}
$$

21. Slope: $0 \dot{x}$ y $\begin{aligned} x & =-6 . \\ \text { Point: }(-6,-7) & x+6\end{aligned}$

$$
\begin{array}{rr}
(x, y) & x+6=0 \\
(-6,-7) & x \cdot y
\end{array}
$$

22. 

$$
\begin{aligned}
& \frac{1}{3}=\frac{k+1}{6+2} \\
& \frac{1}{3}=\frac{k+1}{8}
\end{aligned}
$$

$$
3(k+1)=8
$$

23. 

$$
m=2 / 3
$$

$$
\begin{aligned}
3(K+3) & =8-3 \\
3 K & =\frac{5}{3} \\
K & =\frac{5}{3} .
\end{aligned}
$$


24. $\sqrt[5]{64}$

$$
\frac{\sqrt[5]{(2 \times 2 \times 2} \times 2 \times 2 \times 2}{2 \sqrt[5]{2}}
$$

25. $\sqrt[3]{54}$

$$
=2 \sqrt[5]{2}=3 \sqrt[3]{2}
$$

$$
\sqrt[3]{2 \times(3 \times 3 \times 3}
$$




$$
\begin{aligned}
& \text { 32. (A) } \\
& \begin{aligned}
& 33 . \begin{array}{l}
9 x+5 y=15 \\
x^{-2} \\
4 x+10 y
\end{array}=30 \\
& \begin{aligned}
-18 x-10 y & =-30
\end{aligned} \\
& \begin{array}{l}
\text { (1) } x-2 x+10 y=30 \\
\\
\\
\\
\frac{-14 x}{-14 x} \frac{0}{-14} \quad \text { (2) }
\end{array}
\end{aligned} \begin{array}{l}
(0,3)
\end{array}
\end{aligned}
$$

34. 

$$
\begin{gathered}
x(-3 y=1 \\
2 x+4 y=-18 \\
x(-3 y=1+3 y \\
x=1+3 y \\
2(1+3 y)+4 y=-18 \\
(2+6 y+4 y=-18-2 \\
\frac{10 y}{10 y}=-\frac{20}{10} \\
y=-2 . \\
x=1+3 y \\
x=1+3)(-2) \\
x=1-6 \\
x=-5 \\
(-5,-2)
\end{gathered}
$$

$$
\begin{aligned}
& x=1-6 \\
& x=-5 \\
& (-5,-2)
\end{aligned}
$$

35. 

$$
\begin{aligned}
& 6 H+12 G=198^{x^{2}} \\
& 12 H+6 G=198
\end{aligned}
$$

(1) $x-2$. $-12 H-24 G=-396$
(3) (2) $\begin{aligned} 12 H+6 G & =198 \\ \frac{-18 G}{-18} & =\frac{-198}{-18}\end{aligned}$

$$
G=11
$$

$$
G=\$ 11
$$

$$
\begin{aligned}
& 6 H+12(11)=198 \\
& 6 H+132=198 \\
& \frac{6 H}{6}=\frac{66}{6} \\
& H=\$ 11
\end{aligned}
$$




